§F60E RILS—R—ILEEK AflE (FHR28F6RE)

Ek284F 6H19H (HER)
HEMET HEEEE

L8 1IAEH

SUTIA BER 1RAER

188 EFTERER (T—ONE)
2B i & (DREMRE—Y)
350 E[FEMEF (T—ONE)
AR ik M (DREMRR—Y)

TR ZBE1L AERT

188 KEEKRER-1EBE =2
(T—ONE:DREMRKR—Y)
280 APEF-ZRAIF

(T—ONE)



Q BEITIRE 1 O

#60E RIS—CR—)Lemk Afle (F28F6AE)

284 6A19H (AEH)

MERET AR
1 2 3 4 5 6 L
18816 LS TRBE BHEE IRET EHEAR ERERT B 8 Bk
15 12 9 6 3
by s E
A > 2—0 2—0 2—0 2—0 2—0 5,01
T—ONE 5 &6 52 &2 4
ﬁi E *’é ; 4 11 2 7
- 0—2 Y% 2—0 2—0 0—2 2—0 3/2/3
T—ONE =5 =5 =1 =4
1 8 14
3 ¥ 3
R I F E 0—2 0—2 bre 2—1 2—1 2—0 3124
T—ONE =6 =1 =4
—_ 13 5
iR
MR F 0—2 0—2 1—2 Y% 1—2 1—2 0 5 6
T—ONE ®=2 =3
- 10
RERAR ,_, 2—0 1—2 2—1 * 2—1 3.2 2
T—ONE =3
ALK BT 0—2 0—2 0—2 2—1 1-2 g 1145
T—ONE
1 2 3 4 5 6 ” "
280 1H ALBZ EFET SHT ERAST BAET EH 2 B 8 IRk
N 15 12 9 6 3
x ‘”-' *ﬁb Z Y 2—0 1-2 2—1 2—0 1—2 3122
OREHAE—Y £5 =6 £ = £
4 1 2 7
B F =T 0—2 bre 2-0 1—2 1—2 0—2 1 4,6
TONE g5 5 1 B4
—_— 1 8 14
=HETF 2—1 0—2 D g 0—2 2—1 0—2 213 4
ERL A H— =6 . £
N =:] = 13 5
T—ONE &= =3
—_ 10
&K EF 0—2 2—1 1—2 0—2 Y 0—2 1145
T—ONE =3
k& & 2—1 2—0 2—0 2—0 2—0 bre 5101
DREMAR—Y




Q BEITIRE 2 O

#60E RIS—CR—)Lemk Afle (F28F6AE)

284 6A19H (AEH)

RS ERE
i 2 3 4 5 6 7 % i3
Sah 2k BEH A ERENRT EHAT BLES EIIEDz BA-T : B 8 IRk
15 12 9 6 3
KA 72N
B 27 ‘gj] A 1—2 2—1 2—0 2—0 2—1 4|12
ERALAUR— =5 =6 52 &2 &4
. 4 1 2 7
2 ERmMAF 2—1 brg 2—1 2—0 2—0 2—1 5101
T—ONE
#5 &5 &1 B4
- 1 8 14
JEMMF O, 1—2 * 2—1 2—1 2-0 323
T—ONE =6 =1 84
13 5
5 =
At IJ-IL= = o-2 0-2 1-2 * 0-2 2—1 1145
DREMRKR—Y B2 &3
R 10
JEMNAYF 0—2 1—2 2-0 * 2—1 23 4
T—ONE
&3
Bﬁ::*_ff 1-2 1-2 0—2 1—2 1-2 * 0|56
. *
1 2 3 4 5 6 7 L
48 2k 5 AN &% B EBR RER EEES mema | o | B IR
N 21 18 15 10 7 4
) i ffﬁ > 2—-0 0—2 2—1 2—0 2—1 2—0 512
EREL A R— =5 EI =6 ®7 =2 %3
- 9 17 5 13 1
s I\
2 “IIE/EJH% 0—2 * 0—2 2—0 2—0 2—1 2—0 4 2 3
T—ONE =6 =5 =6 =1 £4
e N 6 14 2 12
\}
& ’ﬁ‘ ﬂ} 2—-0 2-0 * 2—-0 2—-0 2—-0 2-0 | 6|0 1
DREMAK—Y =1 %7 &1 B4
3 11 20
T e 15
|| ET B’”" oo 0-2 0—2 * 2—0 1-2 2-0 |24 5
DREMRAR—Y &7 #2 &3
19 8
5 B
5 A 7|< E 1‘5» 1—2 0—2 0—2 0—2 ¥ 0—-2 0—2 0 6|7
DREMAK—Y %2 B4
16
TR—
B OE X, 1-2 0—2 2—1 2—-0 * 2-0 3|3 4
DREHAR—Y
&3
o) =t I8
,fE X K B 0—2 0—2 0—2 0—2 2—0 0—2 w 156
DREDRR—Y




O ZINRE O

#60E BES—UR—Lask Afls (FR28E6AE)

Tri28% 6A19A(AKER)
TR A

18871/

R - K

B & IEfz

moR B %X

Mook B o F
T—ONE

*

SR -
3

% % & A
& 1%
ERELAR—

E5

% K — IE
ZE O M F
F93R-T—ONE

P NI - B~ 4
w®OH OF B

DAREMRKR—Y-T—ONE

X % 2 X &8
' B E2)
DREMRR—Y

&3

R mEF

nN® mF
T—ONE

2882

g5z

= W B =
=Z#HE2TF

DREMAR—Y - ERL A 2HR—

JIAE - &R
15

2—1

&5

EH-18)1
9

2—1

E2

2

(i L
X E F
T—ONE

~—

e}

*

H

%
b I
T—ONE

N A

#6

1

5 U @
L | 2
T—ONE

ES
F

' B E2)
B OB B W
DREMRR—Y

OE R B
W K B 1E
DREMRR—Y




